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> score[38:43,]

Class No ID
A 38 404550431
A 39 404550442
A 40 404550453
B 1 404550465
B 2 404685071
B 3 404685084

Name Gender Quizl Quiz2 Quiz3 Quiz4

M EhSE
L5
FHE
3P
IR
R %

T 15 25
% 53 60
S 80 100
2 60 81
2 80 100
S 10 40

53 67
80 72
85 100
100 97
100 92
62 93

TA Midterm Final ATT

93.3 29 42 9
100.0 61 62 9
100.0 95 100 3
100.0 90 83 6
100.0 92 97 2
100.0 65 84 9
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e The typical definition used in many older textbooks: go =
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« Used in MINITAB and BMDP: by = (g2 +3)(1 — )2 -3
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> set.seed(123456)
> score <- rt(150, 4)
> my.kurtosis(score)
$kc
g2 G2 b2
1.980622 2.089356 1.914436
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